L <

YZB 250-89

P
L /l P 7
P P S g
h h h
S h
_P N _0.707P
TThi T (htho)l hi
/
h M P M
S ~
A, g 1414P
_6M oo 35M go_l414P (hiths) 1
I Ih (36*—63h+4h?) (hytho)l 8. g 14147k,
S S
I !
o= Psin’a P P
5l S
= Psmsoltcosoa 0707P
TTH

h
o=
hl
-~
_ 0.707P
oo OM oo 33M g 14141 =
NG T Ih(35-65h+4h?) T hi(3+h) .
- x\/2L2+7( 8+h)*
" [h(d+h) 2
2002-04-30 2002-07-01
4 1Pp




YZB 250-89

P

8 =g Il A
h 11 ]L \
= y
/ - P
T
oo 35PL .. 0707P
1h(35*-63h+4h?) Y
=1 =P _4.24M 424PL
h 2lh hl? TR
h 3
/_ £ M
7 - 842 ®
M L
M
oM _3M 5.66M _2.83M
T T = hDw D
h
LA L P ! i L 3
——4 Z i I
/ -~
E ~ W 2 M L — P
P
6PL 3PL ‘%
2 2 1 |+8l
hi hi 4.24M p
_ P __ P TRIH3(3+h ) ] 0=
hi =2 25,46l
h 13 d
s . M(31+1.8h) 7 - M
= R ~ 2(8=h) (I=h)h
M M
2
2.1
211 (o]
[o]— ( )
(o] —
—
n
n
(o] (o] (7]
T42 0.8 0.9 0.6
, . T427 0.9 1.0 0.65




YZB 250-89

4 3
[o]
( ) ( )
A2 140 N/mm? A3( ) 140 N/mm?
A3 160 N/mm?* A5 175~210 N/mm?
2.1.2 [R]
[R]=r[o]
—
lo]— ( )
r
’
r=1
1
r:
1 P
l 3 PII\‘d)\
]
41 P,
3 3 Pl“&lk
: @ Py P . 0
@ r<1 (ol r=1),
2.2
2.2.1 [a]
[o]'=m[ca]"
m—
I:()_J/l
m
m
1.0
0.9
0.75
[0_]//
T42  T426.T427
Q215-A .Q235-A .Q255-A
210 N/mm?
180 N/mm?
130 N/mm?
. 140 N/mm?
4 3 )




YZB 250-89 | 4 4
2.2.2 [R]
[R]'=y[o]
= <
V a_b, Pmin
P"HX
H Pmin\ Pmax_ s
v 1 s v=1,
A3 a.b
A3 A3
a b a b
1.00 0.50 158 .
1.50 1.00
1.10 060 |l 1/1.5
m 1.30 0.80 E:I 2.00 1.50




	88: 
	55: 
	66: 
	77: 


